



Contents lists available at ScienceDirect

Journal of Mathematical Analysis and Applications

www.elsevier.com/locate/jmaa

Generalized Jacobi operators in Krein spaces

Maxim Derevyagin

Department of Nonlinear Analysis, Institute of Applied Mathematics and Mechanics, R. Luxemburg str. 74, 83114 Donetsk, Ukraine

ARTICLE INFO

Article history:

Received 31 May 2008
Available online 19 September 2008
Submitted by M. Milman

Keywords:

Generalized Jacobi matrix
Associated polynomials
Weyl function
Continued fraction
Padé approximant

ABSTRACT

A special class of generalized Jacobi operators which are self-adjoint in Krein spaces is presented. A description of the resolvent set of such operators in terms of solutions of the corresponding recurrence relations is given. In particular, special attention is paid to the periodic generalized Jacobi operators. Finally, the spectral properties of generalized Jacobi operators are applied to prove convergence results for Padé approximants.

© 2008 Elsevier Inc. All rights reserved.

1. Introduction

Let μ be a positive Borel measure having infinite support $\text{supp } \mu \subset [a, b] \subset \mathbb{R}$. To every such a measure μ there corresponds a linear functional defined on the linear space $\mathcal{P} = \text{span}\{\lambda^k: k \in \mathbb{Z}_+ := \mathbb{N} \cup \{0\}\}$ by the formula

$$s_k = \mathfrak{S}(\lambda^k) := \int_a^b t^k d\mu(t), \quad k \in \mathbb{Z}_+ := \mathbb{N} \cup \{0\}.$$

The functional \mathfrak{S} is positive definite on \mathcal{P} , that is, $\det(s_{i+j})_{i,j=0}^n > 0$ for all $n \in \mathbb{Z}_+$. Besides, the measure μ (or, equivalently, the functional \mathfrak{S}) generates the holomorphic function

$$\widehat{\mu}(\lambda) = \mathfrak{S}_t \left(\frac{1}{t-\lambda} \right) = \int_a^b \frac{d\mu(t)}{t-\lambda} = -\frac{s_0}{\lambda} - \frac{s_1}{\lambda^2} - \dots - \frac{s_n}{\lambda^{n+1}} - \dots \quad (|\lambda| > R), \quad (1.1)$$

where R is large enough. By using the Euclidean algorithm, P.L. Tcheyshchev [31] expanded the function $\widehat{\mu}$ into the following continued fraction

$$\widehat{\mu}(\lambda) \sim -\frac{1}{\lambda - a_0 - \frac{b_0^2}{\lambda - a_1 - \frac{b_1^2}{\lambda - a_2 - \dots}}}, \quad (1.2)$$

where a_j are real numbers, b_j are positive numbers, and $\sup_{j \in \mathbb{Z}_+} \{|a_j| + b_j\} < \infty$. Such continued fractions are called J -fractions [21]. Note that the coefficients a_j and b_j are uniquely determined by the coefficients s_j of the Taylor series at infinity (see (1.1)).

E-mail address: derevyagin.m@gmail.com.

It is well known (see [5,21,28]), that the n th convergent $-Q_n(\lambda)/P_n(\lambda)$ of the continued fraction (1.2) is characterized by the following property

$$-\frac{Q_n(\lambda)}{P_n(\lambda)} = -\frac{s_0}{\lambda} - \frac{s_1}{\lambda^2} - \dots - \frac{s_{2n-1}}{\lambda^{2n}} + O\left(\frac{1}{\lambda^{2n+1}}\right) \quad (\lambda \rightarrow \infty). \tag{1.3}$$

In other words, the rational function $-Q_n/P_n$ is the n th diagonal Padé approximant to $\widehat{\mu}$, that is,

$$\widehat{\mu}(\lambda) + \frac{Q_n(\lambda)}{P_n(\lambda)} = O\left(\frac{1}{\lambda^{2n+1}}\right) \quad (\lambda \rightarrow \infty).$$

Further, by using standard argumentation (see [21]), one can see that the polynomials P_n and Q_n are solutions of the three-term recurrence relations

$$b_{j-1}u_{j-1} + a_j u_j + b_j u_{j+1} = \lambda u_j \quad (j \in \mathbb{N}), \tag{1.4}$$

with initial conditions

$$P_0(\lambda) = 1, \quad P_1(\lambda) = \frac{p_0(\lambda)}{b_0}, \quad Q_0(\lambda) = 0, \quad Q_1(\lambda) = \frac{1}{b_0}. \tag{1.5}$$

On the other hand, to the recurrence relations (1.4) (or, equivalently, to the continued fraction (1.2)) there corresponds a linear bounded self-adjoint operator in the space $\ell^2_{[0,\infty)}$. More precisely, that operator is generated by the following tridiagonal matrix

$$H = \begin{pmatrix} a_0 & b_0 & & & \\ b_0 & a_1 & b_1 & & \\ & b_1 & a_2 & \ddots & \\ & & \ddots & \ddots & \\ & & & \ddots & \ddots \end{pmatrix}$$

and its m -function $m(\lambda) = ((H - \lambda)^{-1}e, e)_{\ell^2_{[0,\infty)}}$, where $e = (1, 0, \dots, 0, \dots)^T \in \ell^2_{[0,\infty)}$, coincides with $\widehat{\mu}(\lambda)$. So, one has an operator representation of $\widehat{\mu}$,

$$\widehat{\mu}(\lambda) = ((H - \lambda)^{-1}e, e)_{\ell^2_{[0,\infty)}}, \quad \lambda \in \mathbb{C} \setminus \mathbb{R}.$$

The relations between orthogonal polynomials, Padé approximants, and Jacobi operators are well known. These relations allow to use operator methods to the investigation of orthogonal polynomials and the Padé approximants (see [2,29]).

Note, that the above-mentioned results are also valid if the underlying functional \mathfrak{S} is not positive and has the property

$$\det(s_{i+j})_{i,j=0}^n \neq 0, \quad s_j = \mathfrak{S}(\lambda^j) \tag{1.6}$$

for all $n \in \mathbb{Z}_+$ (see [1,6,7]). The functional \mathfrak{S} having the property (1.6) is called *regular*.

In the present paper a similar relations for nonregular functionals are presented. In fact, the scheme proposed in [1,7] (see also [29]) for investigation of the convergence of Padé approximants is generalized here to the nonregular case. The paper is organized as follows. In Section 2, starting from a (not necessarily regular) functional on \mathcal{P} , three-term recurrence relations for associated polynomials are derived. In Section 3, a special class of generalized Jacobi matrices is presented. Weyl solutions of the three-term recurrence relations and Weyl functions are introduced in Section 4. In Section 5, following the scheme proposed in [1], the characterization of resolvent sets of generalized Jacobi operators is obtained. Section 6 is concerned with the case of periodic generalized Jacobi matrices. In Section 7, convergence results for Padé approximants are proved.

2. Associated polynomials

In this section, starting from a (not necessarily regular) functional on \mathcal{P} , three-term recurrence relations for associated polynomials are derived.

Let us consider a holomorphic in a neighborhood of infinity function φ such that

$$\varphi^\#(\lambda) := \overline{\varphi(\bar{\lambda})} = \varphi(\lambda).$$

So, φ has the Taylor expansion at infinity

$$\varphi(\lambda) = -\sum_{j=0}^{\infty} \frac{s_j}{\lambda^{j+1}},$$

where $s_j \in \mathbb{R}$. To every such a function one can associate a real linear functional on \mathcal{P} defined by the formula

$$\mathfrak{S}(\lambda^k) := \frac{1}{2\pi i} \oint_{|\lambda|=R} \lambda^k \varphi(\lambda) d\lambda = s_k \in \mathbb{R}, \quad k \in \mathbb{Z}_+ := \mathbb{N} \cup \{0\},$$

for sufficiently large R . Clearly, the functional \mathfrak{S} is not necessarily regular, that is $\det(s_{i+j})_{i,j=0}^n = 0$ may vanish for some $n \in \mathbb{Z}_+$ (for instance, see [13]). In general case, the functional \mathfrak{S} generates an indefinite inner product on \mathcal{P} (see [3,32])

$$[f, g]_{\mathfrak{S}} := \mathfrak{S}(f(\lambda)g^{\#}(\lambda)) = \frac{1}{2\pi i} \oint_{|\lambda|=R} f(\lambda)g^{\#}(\lambda)\varphi(\lambda)d\lambda, \quad f, g \in \mathcal{P},$$

which is degenerate if and only if φ is rational. In what follows we suppose that φ is not rational. As in the regular case, one can associate to \mathfrak{S} the following holomorphic function

$$\mathfrak{S}_z\left(\frac{1}{z-\lambda}\right) = \frac{1}{2\pi i} \oint_{|z|=R} \frac{\varphi(z) dz}{z-\lambda} = -\frac{s_0}{\lambda} - \frac{s_1}{\lambda^2} - \dots - \frac{s_n}{\lambda^{n+1}} - \dots \quad (|\lambda| > R). \tag{2.1}$$

Throughout this paper we suppose that the sequence $\mathbf{s} := \{s_j\}_{j=0}^{\infty}$ is *normalized*, i.e. the first nonvanishing moment has modulus 1. A number $n_j \in \mathbb{N}$ is called a *normal index* if $\det(s_{i+k})_{i,k=0}^{n_j-1} \neq 0$. Since φ is not rational, there exists an infinite number of normal indices (see [16, Section 16.10.2]). Let $n_1 < n_2 < \dots < n_j < \dots$ be a sequence of all normal indices. By the choice of n_1 one has $s_{n_1-1} \neq 0$. Let us set $\varepsilon_0 = s_{n_1-1}$ ($|\varepsilon_0| = 1$) and $\varphi_0 := \varphi$. The principal part of the Laurent expansion for $-\frac{1}{\varphi_0}$ is a polynomial of degree $k_0 := n_1$ with the leading coefficient ε_0 . So, we have

$$-\frac{1}{\varphi_0(\lambda)} = \varepsilon_0 p_0(\lambda) + b_0^2 \varphi_1(\lambda), \quad b_0 > 0, \tag{2.2}$$

where p_0 is a monic polynomial of degree k_0 and φ_1 is holomorphic in a neighborhood of infinity. Furthermore, the function φ_1 satisfies the relation $\varphi_1^{\#}(\lambda) = \varphi_1(\lambda)$. Choose $b_0 > 0$ such that the sequence $\mathbf{s}^{(1)} = \{s_j^{(1)}\}_{j=0}^{\infty}$ defined by the following expansion

$$\varphi_1(\lambda) = -\frac{s_0^{(1)}}{\lambda} - \frac{s_1^{(1)}}{\lambda^2} - \dots - \frac{s_{2(n-k_0)}^{(1)}}{\lambda^{2(n-k_0)+1}} - \dots \tag{2.3}$$

at ∞ is normalized. This completes the first step of expanding the series (2.1) into a continued fraction (see [24,25]). As was shown in [11], the set of the normal indices of $\mathbf{s}^{(1)}$ coincides with the following sequence

$$n_2 - k_0 < \dots < n_j - k_0 < \dots$$

Now one can apply the above reasoning to the function φ_1 and so on. By recursion we obtain the following P -fraction

$$-\frac{\varepsilon_0}{p_0(\lambda)} - \frac{\varepsilon_0 \varepsilon_1 b_0^2}{p_1(\lambda)} - \dots - \frac{\varepsilon_{j-1} \varepsilon_j b_{j-1}^2}{p_j(\lambda)} - \dots, \tag{2.4}$$

where $\varepsilon_j = \pm 1$, $b_j > 0$ and $p_j(\lambda) = \lambda^{k_j} + p_{k_j-1}^{(j)} \lambda^{k_j-1} + \dots + p_1^{(j)} \lambda + p_0^{(j)}$ are real monic polynomials of degree k_j (see also [11,14]). Note, that $n_j = k_0 + k_1 + \dots + k_{j-1}$.

It also should be mentioned that there exist holomorphic in a neighborhood of infinity functions for which the set $\{b_j, p_0^{(j)}, \dots, p_{k_j-1}^{(j)}; j \in \mathbb{Z}_+\}$ of coefficients of the P -fraction is not necessarily bounded. In particular, the Cauchy transform of the signed measure constructed in [30] gives such an example.

The continued fraction (2.4) can be considered as a sequence of the linear-fractional transformations (see [21, Section 5.2])

$$T_j(\omega) := \frac{-\varepsilon_j}{p_j(\lambda) + \varepsilon_j b_j^2 \omega}$$

having the following matrix representation

$$\mathcal{W}_j(\lambda) = \begin{pmatrix} 0 & -\frac{\varepsilon_j}{b_j} \\ \varepsilon_j b_j & \frac{p_j(\lambda)}{b_j} \end{pmatrix}, \quad j \in \mathbb{Z}_+. \tag{2.5}$$

The superposition $T_0 \circ T_1 \circ \dots \circ T_j$ of the linear-fractional transformations corresponds to the product of the matrices $\mathcal{W}_i(\lambda)$,

$$\mathcal{W}_{[0,j]}(\lambda) = \left(w_{ik}^{(j)}(\lambda) \right)_{i,k=1}^2 := \mathcal{W}_0(\lambda) \mathcal{W}_1(\lambda) \dots \mathcal{W}_j(\lambda). \tag{2.6}$$

To give an explicit formula for $\mathcal{W}_{[0,j]}$ in terms of p_j, b_j, ε_j , define the polynomials $P_{j+1}(\lambda), Q_{j+1}(\lambda)$ by the equalities

$$\begin{pmatrix} -Q_0 \\ P_0 \end{pmatrix} = \begin{pmatrix} 0 \\ 1 \end{pmatrix}, \quad \begin{pmatrix} -Q_{j+1}(\lambda) \\ P_{j+1}(\lambda) \end{pmatrix} := \mathcal{W}_{[0,j]}(\lambda) \begin{pmatrix} 0 \\ 1 \end{pmatrix}, \quad j \in \mathbb{Z}_+. \tag{2.7}$$

The relation $\mathcal{W}_{[0,j]}(\lambda) = \mathcal{W}_{[0,j-1]}(\lambda)\mathcal{W}_j(\lambda)$ (see (2.6)) yields

$$\mathcal{W}_{[0,j]}(\lambda) \begin{pmatrix} 1 \\ 0 \end{pmatrix} = \mathcal{W}_{[0,j-1]}(\lambda) \begin{pmatrix} 0 \\ \varepsilon_j b_j \end{pmatrix} = \begin{pmatrix} -\varepsilon_j b_j Q_j(\lambda) \\ \varepsilon_j b_j P_j(\lambda) \end{pmatrix}, \quad j \in \mathbb{N}. \tag{2.8}$$

So, the matrix $\mathcal{W}_{[0,j]}(\lambda)$ has the form

$$\mathcal{W}_{[0,j]}(\lambda) = \begin{pmatrix} -\varepsilon_j b_j Q_j(\lambda) & -Q_{j+1}(\lambda) \\ \varepsilon_j b_j P_j(\lambda) & P_{j+1}(\lambda) \end{pmatrix}, \quad j \in \mathbb{Z}_+. \tag{2.9}$$

Further, the equality

$$\begin{pmatrix} -Q_{j+1}(\lambda) \\ P_{j+1}(\lambda) \end{pmatrix} = \mathcal{W}_{[0,j-1]}(\lambda)\mathcal{W}_j(\lambda) \begin{pmatrix} 0 \\ 1 \end{pmatrix} = \frac{1}{b_j} \mathcal{W}_{[0,j-1]}(\lambda) \begin{pmatrix} -\varepsilon_j \\ p_j(\lambda) \end{pmatrix}, \quad j \in \mathbb{N},$$

shows that the polynomials $P_j(\lambda), Q_j(\lambda)$ are solutions of the difference equation

$$\varepsilon_{j-1} \varepsilon_j b_{j-1} u_{j-1} - p_j(\lambda) u_j + b_j u_{j+1} = 0 \quad (j \in \mathbb{N}), \tag{2.10}$$

obeying the initial conditions

$$\begin{aligned} P_0(\lambda) &= 1, & P_1(\lambda) &= \frac{p_0(\lambda)}{b_0}, \\ Q_0(\lambda) &= 0, & Q_1(\lambda) &= \frac{\varepsilon_0}{b_0}. \end{aligned} \tag{2.11}$$

According to (2.9), the $(j + 1)$ th convergent of the continued fraction (2.4) is equal to

$$f_j := T_0 \circ T_1 \circ \dots \circ T_j(0) = -Q_{j+1}(\lambda)/P_{j+1}(\lambda).$$

The relations (2.9), (2.6), and (2.5) imply the following statement.

Proposition 2.1. (See [14].) *The polynomials P_j, Q_j satisfy the following generalized Liouville–Ostrogradsky formula*

$$\varepsilon_j b_j (Q_{j+1}(\lambda) P_j(\lambda) - Q_j(\lambda) P_{j+1}(\lambda)) = 1 \quad (j \in \mathbb{Z}_+). \tag{2.12}$$

3. Generalized Jacobi matrices

The main goal of this section is to present a special class of generalized Jacobi matrices.

Let $p(\lambda) = p_n \lambda^n + \dots + p_1 \lambda + p_0$ be a monic scalar real polynomial of degree n , i.e. $p_n = 1$. Let us associate to the polynomial p its symmetrizer E_p and let the companion matrix C_p be given by

$$E_p = \begin{pmatrix} p_1 & \dots & p_n \\ \vdots & \ddots & \\ p_n & & \mathbf{0} \end{pmatrix}, \quad C_p = \begin{pmatrix} 0 & \dots & 0 & -p_0 \\ 1 & & \mathbf{0} & -p_1 \\ & \ddots & & \vdots \\ \mathbf{0} & & 1 & -p_{n-1} \end{pmatrix}. \tag{3.1}$$

As is known, $\det(\lambda - C_p) = p(\lambda)$ and the spectrum $\sigma(C_p)$ of the companion matrix C_p is simple. The matrices E_p and C_p are related by (see [20])

$$C_p E_p = E_p C_p^T. \tag{3.2}$$

So, $C_p E_p$ is a symmetric matrix.

Definition 3.1. (See [13,23].) Let p_j be real monic polynomials of degree k_j ,

$$p_j(\lambda) = \lambda^{k_j} + p_{k_j-1}^{(j)} \lambda^{k_j-1} + \dots + p_1^{(j)} \lambda + p_0^{(j)},$$

and let $\varepsilon_j = \pm 1, b_j > 0$ ($j \in \mathbb{N}$). The tridiagonal block matrix

$$H = \begin{pmatrix} A_0 & \tilde{B}_0 & & \mathbf{0} \\ B_0 & A_1 & \tilde{B}_1 & \\ & B_1 & A_2 & \ddots \\ \mathbf{0} & & \ddots & \ddots \end{pmatrix}, \tag{3.3}$$

where $A_j = C_{p_j}$ and $k_{j+1} \times k_j$ matrices B_j and $k_j \times k_{j+1}$ matrices \tilde{B}_j are given by

$$B_j = \begin{pmatrix} 0 & \dots & b_j \\ \vdots & \ddots & \vdots \\ 0 & \dots & 0 \end{pmatrix}, \quad \tilde{B}_j = \begin{pmatrix} 0 & \dots & \tilde{b}_j \\ \vdots & \ddots & \vdots \\ 0 & \dots & 0 \end{pmatrix} \quad (\tilde{b}_j = \varepsilon_j \varepsilon_{j+1} b_j, \quad j = 0, \dots, N - 1), \tag{3.4}$$

will be called a *generalized Jacobi matrix* associated with the sequences of polynomials $\{\varepsilon_j p_j\}_{j=0}^\infty$ and numbers $\{b_j\}_{j=0}^\infty$.

Remark 3.2. The papers [13,14,23] are only concerned with the case of generalized Jacobi matrices which are finite rank perturbations of classical Jacobi matrices. In fact, the generalized Jacobi matrix in question is associated to the P -fraction (2.4) or, equivalently, to the sequence of matrices \mathcal{W}_j having the form (2.5).

From now on, we suppose that

- (A.1) there exists $N \in \mathbb{N}$: $\deg p_j \leq N, \quad j \in \mathbb{Z}_+$,
- (A.2) $\sup\{b_j, |p_k^{(j)}|: j \in \mathbb{Z}_+, k = 0, \dots, k_j - 1\} < +\infty$.

Let $\ell^2_{[0,\infty)}$ denote the Hilbert space of complex square summable sequences (w_0, w_1, \dots) with the usual inner product. Setting

$$n_0 = 0, \quad n_j = \sum_{i=0}^{j-1} k_i \quad (j \in \mathbb{N}), \tag{3.5}$$

define a standard basis in $\ell^2_{[0,\infty)}$ by the equalities

$$e_{j,k} = \{\delta_{l,n_j+k}\}_{l=0}^\infty \quad (j \in \mathbb{Z}_+; k = 0, \dots, k_j - 1), \quad e := e_{0,0}.$$

Define the symmetric matrix G by the equality

$$G = \text{diag}(G_0, G_1, \dots), \quad G_j = \varepsilon_j E_{p_j}^{-1} \quad (j \in \mathbb{Z}_+). \tag{3.6}$$

Further, we may identify via usual matrix product the matrix G with an operator on the linear space \mathcal{C}_0 of finite sequences of $\ell^2_{[0,\infty)}$. Its closure will be also denoted by G . In view of (A.1), (A.2), the operator G defined on $\ell^2_{[0,\infty)}$ is bounded and self-adjoint. Moreover, G^{-1} is a bounded linear operator in $\ell^2_{[0,\infty)}$.

Let $H_{[j,l]}$ ($G_{[j,l]}$) be a submatrix of H (G), corresponding to the basis vectors $\{e_{i,k}\}_{i=j,\dots,l}^{k=0,\dots,k_i-1}$ ($0 \leq j \leq l < +\infty$). The matrix $H_{[j,l]}$ will be called a finite generalized Jacobi matrix.

Let $\mathfrak{H}_{[0,\infty)}$ be a space of elements of $\ell^2_{[0,\infty)}$ provided with the following indefinite inner product

$$[x, y] = (Gx, y)_{\ell^2_{[0,\infty)}} \quad (x, y \in \ell^2_{[0,\infty)}). \tag{3.7}$$

Let us recall [3] that a pair $(\mathfrak{H}, [\cdot, \cdot])$ consisting of a Hilbert space \mathfrak{H} and a sesquilinear form $[\cdot, \cdot]$ on $\mathfrak{H} \times \mathfrak{H}$ is called a *space with indefinite inner product*. A space with indefinite metric $(\mathfrak{H}, [\cdot, \cdot])$ is called a *Krein space* if the indefinite scalar product $[\cdot, \cdot]$ can be represented as follows

$$[x, y] = (Jx, y)_{\mathfrak{H}}, \quad x, y \in \mathfrak{H},$$

where the linear operator J satisfies the following conditions

$$J = J^{-1} = J^*.$$

The operator J is called *the fundamental symmetry*. So, one can see that the space $\mathfrak{H}_{[0,\infty)}$ is the Krein space with the fundamental symmetry $J = \text{sign } G$ (see [3] for details).

Proposition 3.3. Under the assumptions (A.1), (A.2), the considered generalized Jacobi matrix defines a bounded self-adjoint operator H (a generalized Jacobi operator) in the Krein space $\mathfrak{H}_{[0,\infty)}$, that is,

$$[Hx, y] = [x, Hy], \quad x, y \in \mathfrak{H}_{[0,\infty)}. \tag{3.8}$$

Proof. It is not hard to see that, according to (A.1), (A.2), the matrix in question generates a bounded operator in $\mathfrak{H}_{[0,\infty)}$. Relation (3.8) is implied by (3.2) (see [13] for details). \square

Let us extend the system $\{P_j(\lambda)\}_{j=0}^\infty, \{Q_j(\lambda)\}_{j=0}^\infty$ by the equalities

$$P_{j,k}(\lambda) = \lambda^k P_j(\lambda), \quad Q_{j,k}(\lambda) = \lambda^k Q_j(\lambda) \quad (j \in \mathbb{Z}_+; k = 0, \dots, k_j - 1). \tag{3.9}$$

Setting

$$\begin{aligned} \mathbf{P}_{[l,j]}(\lambda) &= (P_{l,0}(\lambda), \dots, P_{l,k_l-1}(\lambda), \dots, P_{j,0}(\lambda), \dots, P_{j,k_j-1}(\lambda)), \\ \mathbf{Q}_{[l,j]}(\lambda) &= (Q_{l,0}(\lambda), \dots, Q_{l,k_l-1}(\lambda), \dots, Q_{j,0}(\lambda), \dots, Q_{j,k_j-1}(\lambda)) \end{aligned}$$

one can rewrite the system (2.10), (3.9) in the following manner

$$\mathbf{P}_{[0,j]}(\lambda)(\lambda - H_{[0,j]}) = (0, \dots, 0, b_j P_{j+1,0}(\lambda)) \quad (j \in \mathbb{Z}_+), \tag{3.10}$$

$$\mathbf{Q}_{[0,j]}(\lambda)(\lambda - H_{[0,j]}) = (\underbrace{0, \dots, 0}_{k_0}, -\varepsilon_0, 0, \dots, 0, b_j Q_{j+1,0}(\lambda)) \quad (j \in \mathbb{Z}_+). \tag{3.11}$$

Since $Q_{0,0}(\lambda) = \dots = Q_{0,k_0-1}(\lambda) \equiv 0$, the relation (3.11) reduces to

$$\mathbf{Q}_{[1,j]}(\lambda)(\lambda - H_{[1,j]}) = (0, \dots, 0, b_j Q_{j+1,0}(\lambda)) \quad (j \in \mathbb{N}). \tag{3.12}$$

It follows from (3.10) and (3.12) that the eigenvalues of $H_{[0,j]}$ and $H_{[1,j]}$ coincide with the roots of $P_{j+1}(\lambda)$ and $Q_{j+1}(\lambda)$, respectively.

Proposition 3.4. (See [13].) The polynomials P_j and Q_j ($j \in \mathbb{N}$) can be found by the formulas

$$P_j(\lambda) = (b_0 \dots b_{j-1})^{-1} \det(\lambda - H_{[0,j-1]}), \tag{3.13}$$

$$Q_j(\lambda) = \varepsilon_0 (b_0 \dots b_{j-1})^{-1} \det(\lambda - H_{[1,j-1]}). \tag{3.14}$$

The formulas (3.13) and (3.14) in the classical case can be found in [9, Section 7.1.2] and [4, Section 6.1]. The following statement is an easy consequence of the recurrence relations (2.10).

Proposition 3.5. (See [13,14].) Let $j \in \mathbb{N}$. Then:

- (i) The polynomials P_j and P_{j+1} have no common zeros.
- (ii) The polynomials Q_j and Q_{j+1} have no common zeros.
- (iii) The polynomials P_j and Q_j have no common zeros.

Taking into account the equality $G_{[0,j]}H_{[0,j]} = H_{[0,j]}^\top G_{[0,j]}$ which is implied by (3.2) (see [13]) and setting

$$\pi_{[0,j]}(\lambda) = G_{[0,j]}^{-1} \mathbf{P}_{[0,j]}(\lambda)^\top, \quad \xi_{[0,j]}(\lambda) = G_{[0,j]}^{-1} \mathbf{Q}_{[0,j]}(\lambda)^\top,$$

one can rewrite (3.10), (3.11) in the form

$$(\lambda - H_{[0,j]})\pi_{[0,j]}(\lambda) = \varepsilon_j b_j P_{j+1,0}(\lambda) e_{j,0} \quad (j \in \mathbb{Z}_+), \tag{3.15}$$

$$(\lambda - H_{[0,j]})\xi_{[0,j]}(\lambda) + e_{0,0} = \varepsilon_j b_j Q_{j+1,0}(\lambda) e_{j,0} \quad (j \in \mathbb{Z}_+). \tag{3.16}$$

Further, let us set

$$\pi(\lambda) = G^{-1} (P_{0,0}(\lambda), \dots, P_{0,k_0-1}(\lambda), \dots)^\top, \quad \xi(\lambda) = G^{-1} (Q_{0,0}(\lambda), \dots, Q_{0,k_0-1}(\lambda), \dots)^\top. \tag{3.17}$$

Now, it follows from (3.15)–(3.17) that the following formal equalities hold true

$$(\lambda - H)\pi(\lambda) = 0, \quad (\lambda - H)\xi(\lambda) = -e_{0,0}. \tag{3.18}$$

The first equality in (3.18) allows us to characterize the point spectrum of H .

Proposition 3.6. $\lambda \in \sigma_p(H)$ if and only if $\pi(\lambda) \in \ell^2_{[0,\infty)}$.

By the definition of $\pi(\lambda)$ and the assumptions (A.1), (A.2), we see that

$$\pi(\lambda) \in \ell^2_{[0,\infty)} \Leftrightarrow \sum_{j=0}^{\infty} |P_j(\lambda)|^2 < +\infty.$$

4. Weyl solutions and Weyl functions

If for some $\lambda \in \mathbb{C}$ there exists a solution $\{W_j(\lambda)\}_{j=0}^{\infty}$ of the recurrence relations (2.10) such that

$$\{W_j(\lambda)\}_{j=0}^{\infty} \in \ell^2_{[0,\infty)} \quad \text{and} \quad \{W_j(\lambda)\}_{j=0}^{\infty} \neq \{P_j(\lambda)\}_{j=0}^{\infty} \tag{4.1}$$

then we will say that there exists a Weyl solution $\{W_j(\lambda)\}_{j=0}^{\infty}$ of the recurrence relations (2.10) at the point λ . Since $\{P_j(\lambda)\}_{j=0}^{\infty}$ and $\{Q_j(\lambda)\}_{j=0}^{\infty}$ are linearly independent solutions of (2.10), the Weyl solution admits the following representation

$$W_j(\lambda) = Q_j(\lambda) + m(\lambda)P_j(\lambda), \tag{4.2}$$

where $m(\lambda)$ is a complex number. The following statement shows the relation between $m(\lambda)$ and the operator H .

Proposition 4.1. Let $\lambda \in \rho(H)$ and let

$$m(\lambda) = [(H - \lambda)^{-1}e, e], \quad e := e_{0,0}. \tag{4.3}$$

Then the family $\{W_j(\lambda)\}_{j=0}^{\infty}$ given by (4.2) is the Weyl solution of (2.10) at λ . Moreover, $\{W_j(\lambda)\}_{j=0}^{\infty}$ has the form

$$W_j(\lambda) = [(H - \lambda)^{-1}e, e_{j,0}], \quad j \in \mathbb{Z}_+. \tag{4.4}$$

Proof. For $\lambda \in \rho(H)$ the relation (3.18) implies that there exists a number $m(\lambda) \in \mathbb{C}$ such that

$$\xi(\lambda) + m(\lambda)\pi(\lambda) = (H - \lambda)^{-1}e \in \ell^2_{[0,\infty)}.$$

Since G is a bounded operator, we have

$$G(\xi(\lambda) + m(\lambda)\pi(\lambda)) \in \ell^2_{[0,\infty)}. \tag{4.5}$$

Using (3.17) yields

$$[(H - \lambda)^{-1}e, e_{j,0}] = (G(\xi(\lambda) + m(\lambda)\pi(\lambda)), e_{j,0})_{\ell^2} = Q_j(\lambda) + m(\lambda)P_j(\lambda) =: W_j(\lambda) \quad (\neq P_j(\lambda)).$$

The latter relation means that $\{W_j(\lambda)\}_{j=0}^{\infty}$ is a solution of (2.10). Due to (4.5), we obtain that $\{W_j(\lambda)\}_{j=0}^{\infty} \in \ell^2_{[0,\infty)}$. Now, it follows from (2.11) that

$$W_0(\lambda) = m(\lambda) = [(H - \lambda)^{-1}e, e]. \quad \square$$

Definition 4.2. The function m defined by (4.2) is called a Weyl function of the operator H .

Remark 4.3. It should be mentioned that a general treatment of the Weyl functions of classical Jacobi matrices in the framework of extension theory of nondensely defined symmetric operators was proposed in [26]. A general treatment of the Weyl functions of symmetric operators in Krein spaces in the framework of extension theory was presented in [15]. The function m defined by (4.3) on $\rho(H)$ is also called the m -function of H (see [13,18]).

Since H is bounded, m admits the representation

$$m(\lambda) = [(H - \lambda)^{-1}e, e] = - \sum_{j=0}^{\infty} \frac{s_j}{\lambda^{j+1}} \quad (|\lambda| > \|H\|), \tag{4.6}$$

where $s_i = [H^i e, e]$.

Analogously, one can define m -functions of shortened generalized Jacobi matrices.

Definition 4.4. The function

$$m_{[0,j]}(\lambda) = [(H_{[0,j]} - \lambda)^{-1}e, e] \tag{4.7}$$

is called the m -function of $H_{[0,j]}$.

Making use of the structure of $H_{[0,j]}$, we obtain that (see [13])

$$m_{[0,j]}(\lambda) = -\varepsilon_0 \frac{\det(\lambda - H_{[1,j]})}{\det(\lambda - H_{[0,j]})}. \tag{4.8}$$

According to (3.13), (3.14), the formula (4.8) can be rewritten as follows

$$m_{[0,j]}(\lambda) = -\frac{Q_{j+1}(\lambda)}{P_{j+1}(\lambda)}. \tag{4.9}$$

It follows from (2.10) (see [13] for details) that the m -function $m_{[0,j]}(\lambda)$ and the m -function $m_{[1,j]}(\lambda)$ of $H_{[1,j]}$ are related by the equality

$$m_{[0,j]}(\lambda) = \frac{-\varepsilon_0}{p_0(\lambda) + \varepsilon_0 b_0^2 m_{[1,j]}(\lambda)}, \quad j \in \mathbb{N}. \tag{4.10}$$

An analogous statement for infinite generalized Jacobi matrices is an essential ingredient in the proof of the following result.

Theorem 4.5. Under the assumptions (A.1), (A.2), the generalized Jacobi matrix H is uniquely determined by its Weyl function m .

Proof. By using the Frobenius formula, one can see that the Weyl function m of H and the Weyl function

$$m_{[1,\infty)}(\lambda) = [(H_{[1,\infty)} - \lambda)^{-1}e_{1,0}, e_{1,0}]$$

of $H_{[1,\infty)}$ are related by the equality

$$m(\lambda) = \frac{-\varepsilon_0}{p_0(\lambda) + \varepsilon_0 b_0^2 m_{[1,\infty)}(\lambda)}, \quad |\lambda| > \|H\| \geq \|H_{[1,\infty)}\| \tag{4.11}$$

(a more detailed reasoning can be found in [13]). Further, consecutive applications of the relation (4.11) leads to the P -fraction (2.4). So, one can uniquely recover the generalized Jacobi matrix H . \square

Remark 4.6. In the definite case, formulas (4.8) and (4.9) are easy consequences of the theory developed in [26]. In this case, it is well known that the Weyl function determines the classical Jacobi matrix uniquely (for instance, see [18,26]). It is worth to mention that this result as well as Borg type uniqueness result was recently extended to the case of normal matrices (see [27]). Besides, a canonical form of a normal matrix (an analog of Jacobi matrix for self-adjoint matrices) was also introduced there. Some inverse problems for finite generalized Jacobi matrices were considered in [12,13].

5. The resolvent set of H

Here, following the scheme proposed in [1], the characterization of resolvent sets $\rho(H)$ of generalized Jacobi operators is obtained. We begin with an auxiliary lemma which gives a criterion of the density of $\text{ran}(H - \lambda)$ in $\ell^2_{[0,\infty)}$.

Lemma 5.1. For $\lambda \in \mathbb{C}$ the equation

$$(H - \lambda I)x = e_{j,k}$$

has a solution $x = x(j, k) \in \ell^2_{[0,\infty)}$ for all $j, k \in \mathbb{Z}_+$ iff there exists a Weyl solution at λ .

Proof. (1) First, let us consider the case where $j = k = 0$. It follows from (3.18) that the equation $(H - \lambda)x = e_{0,0}$ has a solution belonging to $\ell^2_{[0,\infty)}$ if and only if there exists a number $m(\lambda) \in \mathbb{C}$ such that $\xi(\lambda) + m(\lambda)\pi(\lambda) \in \ell^2_{[0,\infty)}$. Furthermore, in this case we have

$$x = x(0, 0) = \xi(\lambda) + m(\lambda)\pi(\lambda). \tag{5.1}$$

(2) Next, let $k = 0$ and $j \in \mathbb{N}$. According to (3.15) and (3.16), we see that

$$(H - \lambda)\xi_{[0,j]}(\lambda) = e_{0,0} - \varepsilon_j b_j Q_{j+1,0}(\lambda)e_{j,0} + \varepsilon_j b_j Q_{j,0}(\lambda)e_{j+1,0}, \tag{5.2}$$

$$(H - \lambda)\pi_{[0,j]}(\lambda) = -\varepsilon_j b_j P_{j+1,0}(\lambda)e_{j,0} + \varepsilon_j b_j P_{j,0}(\lambda)e_{j+1,0}. \tag{5.3}$$

Adding (5.2) multiplied by $-P_j$ and (5.3) multiplied by Q_j , one obtains

$$(H - \lambda)[-P_j(\lambda)\xi_{[0,j]}(\lambda) + Q_j(\lambda)\pi_{[0,j]}(\lambda)] = -P_j(\lambda)e_{0,0} - \varepsilon_j b_j (P_{j+1}(\lambda)Q_j(\lambda) - Q_{j+1}(\lambda)P_j(\lambda))e_{j,0}. \tag{5.4}$$

Due to (2.12), (5.4) can be rewritten as follows

$$(H - \lambda)[-P_j(\lambda)\xi_{[0,j]}(\lambda) + Q_j(\lambda)\pi_{[0,j]}(\lambda)] + P_j(\lambda)e_{0,0} = e_{j,0}.$$

The latter relation shows that the equation $(H - \lambda)x = e_{j,0}$ has a solution $x = x(j, 0) \in \ell^2_{[0,\infty)}$ if and only if $e_{0,0} \in \text{ran}(H - \lambda)$. Moreover, the solution admits the representation

$$x = x(j, 0) = -P_j(\lambda)\xi_{[0,j]}(\lambda) + Q_j(\lambda)\pi_{[0,j]}(\lambda) + P_j(\lambda)[\xi(\lambda) + m(\lambda)\pi(\lambda)]. \tag{5.5}$$

(3) Finally, assume that $k \neq 0$. Observe that

$$(H - \lambda)e_{j,0} = e_{j,1} - \lambda e_{j,0}, \quad \dots, \quad (H - \lambda)e_{j,k_j-2} = e_{j,k_j-1} - \lambda e_{j,k_j-2}. \tag{5.6}$$

The chain of equalities (5.6) implies that the equation $(H - \lambda)x = e_{j,k}$ has a solution $x = x(j, k) \in \ell^2_{[0,\infty)}$ if and only if $e_{j,0} \in \text{ran}(H - \lambda)$ (or, equivalently, $e_{0,0} \in \text{ran}(H - \lambda)$). Besides, the solution $x = x(j, k)$ can be expressed in the following manner

$$x = x(j, k) = e_{j,k-1} + \lambda e_{j,k-2} + \dots + \lambda^k (-P_j(\lambda)\xi_{[0,j]}(\lambda) + Q_j(\lambda)\pi_{[0,j]}(\lambda) + P_j(\lambda)[\xi(\lambda) + m(\lambda)\pi(\lambda)]). \quad \square$$

Remark 5.2. In fact, Lemma 5.1 gives a way to express the formal inverse operator R_λ to $H - \lambda$. Moreover, it is not so hard to see that the Weyl solution at λ exists if and only if $e \in \text{ran}(H - \lambda)$.

Now we are ready to prove the main result of the present paper.

Theorem 5.3. Under the assumptions (A.1), (A.2), $\lambda \in \rho(H)$ if and only if there exist a Weyl solution $\{W_j(\lambda)\}_{j=0}^\infty$ at λ and numbers $q \in (0, 1)$, $C > 0$ such that

$$|P_i(\lambda)W_j(\lambda)| \leq Cq^{n_j-n_i}, \quad i \leq j. \tag{5.7}$$

Proof. Let us prove the sufficiency. Let $\mathcal{H}_k := \overline{\text{span}}\{e_{j,k} \mid j \in \mathbb{Z}_+\}$ and let $\mathcal{P}_{\mathcal{H}_k}$ be the orthogonal projector onto \mathcal{H}_k in $\ell^2_{[0,\infty)}$. We start with proving the boundedness of the operator $R_\lambda \mathcal{P}_{\mathcal{H}_k}$ for any $k \in \{0, \dots, N - 1\}$. First, it is convenient to consider the operator $GR_\lambda \mathcal{P}_{\mathcal{H}_0}$. Taking into account (5.5), we obtain

$$(GR_\lambda \mathcal{P}_{\mathcal{H}_0} e_{j,0})_{i,k} = (GR_\lambda e_{j,0})_{i,k} := (GR_\lambda e_{j,0}, e_{i,k}) = \begin{cases} \lambda^k P_i(\lambda)(Q_j(\lambda) + m(\lambda)P_j(\lambda)), & i \leq j, \\ \lambda^k P_j(\lambda)(Q_i(\lambda) + m(\lambda)P_i(\lambda)), & i > j. \end{cases}$$

It is clear that one can represent the operator $GR_\lambda \mathcal{P}_{\mathcal{H}_0}$ as the sum of upper and lower triangular operators: $GR_\lambda \mathcal{P}_{\mathcal{H}_0} = R_\lambda^{(1)} + R_\lambda^{(2)}$. To be more precise, we choose $R_\lambda^{(1)}$ in the following way

$$R_\lambda^{(1)} e_{j,k} = 0 \quad \text{for } k \neq 0, \quad R_\lambda^{(1)} e_{j,0} = y_j^{(1)}, \quad \text{where } (y_j^{(1)})_{i,k} = \begin{cases} \lambda^k P_i(\lambda)(Q_j(\lambda) + m(\lambda)P_j(\lambda)), & i \leq j, \\ 0, & i > j. \end{cases}$$

Now, one can prove that $R_\lambda^{(1)}$ is bounded. Indeed, setting

$$x = \sum_{j=0}^l \sum_{k=0}^{k_j-1} x_{j,k} e_{j,k} \quad \text{and} \quad y = \sum_{j=0}^l \sum_{k=0}^{k_j-1} y_{j,k} e_{j,k}$$

we get the following relation

$$(R_\lambda^{(1)} x, y)_{\ell^2} = \sum_{j=0}^l x_{j,0} \left(R_\lambda^{(1)} e_{j,0}, \sum_{i=0}^l \sum_{k=0}^{k_i-1} y_{i,k} e_{i,k} \right) = \sum_{j=0}^l x_{j,0} \sum_{i=0}^j \sum_{k=0}^{k_i-1} \lambda^k P_i(\lambda)(Q_j(\lambda) + m(\lambda)P_j(\lambda)) \bar{y}_{i,k}.$$

Thus, (5.7) yields

$$|(R_\lambda^{(1)} x, y)_{\ell^2}| \leq C \max\{1, |\lambda|^{N-1}\} \sum_{j=0}^l |x_{j,0}| \sum_{i=0}^j \sum_{k=0}^{k_i-1} q^{n_j-n_i} |y_{i,k}|.$$

Notice that $n_j - n_i = \sum_{l=i+1}^j k_l \geq \sum_{l=i+1}^j 1 = j - i$ and, therefore, we have

$$\begin{aligned} |(R_\lambda^{(1)}x, y)_{\ell^2}| &\leq C \max\{1, |\lambda|^{N-1}\} \sum_{j=0}^l \sum_{i=0}^j \sum_{k=0}^{k_i-1} q^{j-i} |x_{j,0}| |y_{i,k}| \leq C \max\{1, |\lambda|^{N-1}\} \sum_{s=0}^l q^s \sum_{j=s}^l |x_{j,0}| \sum_{k=0}^{k_{j-s}-1} |y_{j-s,k}| \\ &\leq C\sqrt{N} \max\{1, |\lambda|^{N-1}\} \sum_{s=0}^l q^s \|x\|_{\ell^2} \|y\|_{\ell^2} = \tilde{C} \frac{1 - q^{l+1}}{1 - q} \|x\|_{\ell^2} \|y\|_{\ell^2}. \end{aligned}$$

Hence, $R_\lambda^{(1)}$ is a bounded operator. Similarly, one can prove the boundedness of $R_\lambda^{(2)}$. So, we have proved that $GR_\lambda \mathcal{P}_{\mathcal{H}_0}$ is bounded. Since G^{-1} is bounded, $R_\lambda \mathcal{P}_{\mathcal{H}_0}$ is also bounded.

Further, let $k \in \{1, \dots, N - 1\}$. From (5.6) one can deduce

$$R_\lambda e_{j,k} = e_{j,k-1} + \lambda R_\lambda e_{j,k-1} = V_k e_{j,k} + \lambda R_\lambda V_k e_{j,k},$$

where $V_k : e_{j,k} \mapsto e_{j,k-1}$ is an isometric operator from \mathcal{H}_k to \mathcal{H}_{k-1} . If $h \in \mathcal{H}_k$ then $R_\lambda h = V_k h + \lambda R_\lambda V_k h$. So, the boundedness of V_1 and $R_\lambda \mathcal{P}_{\mathcal{H}_0}$ implies that $R_\lambda \mathcal{P}_{\mathcal{H}_1}$ is bounded. Analogously, $R_\lambda \mathcal{P}_{\mathcal{H}_k}$ is bounded for $k \in \{2, \dots, N - 1\}$. This implies that $R_\lambda = \sum_{i=0}^{N-1} R_\lambda \mathcal{P}_{\mathcal{H}_i}$ is a bounded operator. The latter means that the domain of R_λ is $\ell_{[0,\infty)}^2$. Since λ is not an eigenvalue, we have $\ker(H - \lambda) = \{0\}$ and $\text{ran}(H - \lambda) = \ell_{[0,\infty)}^2$. Now, applying the Banach theorem on inverse operators we obtain that $\lambda \in \rho(H)$.

The necessity of (5.7) follows from [10] and the relation

$$(R_\lambda e_{j,0})_{i,k_i-1} = \begin{cases} P_i(\lambda)(Q_j(\lambda) + m(\lambda)P_j(\lambda)), & i \leq j, \\ P_j(\lambda)(Q_i(\lambda) + m(\lambda)P_i(\lambda)), & i > j, \end{cases}$$

which directly follows from (5.5). \square

Remark 5.4. In the case of nonsymmetric tridiagonal operators Theorem 5.3 was proved in [1]. In fact, we have extended the scheme proposed in [1] to the case of generalized Jacobi matrices. A similar result for banded matrices with nonvanishing extreme diagonals in terms of the corresponding vector polynomials was obtained in [8].

6. The Floquet theory

In the present section, by using Theorem 5.3, we give a description of spectra of periodic generalized Jacobi operators.

Definition 6.1. Let $s \in \mathbb{N}$. A generalized Jacobi matrix satisfying the properties

$$A_{js+k} = A_k, \quad B_{js+k} = B_k, \quad \varepsilon_{js+k} = \varepsilon_k, \quad j \in \mathbb{Z}_+, \quad k \in \{0, \dots, s - 1\},$$

will be called an s -periodic generalized Jacobi matrix. The corresponding generalized Jacobi operator in $\mathcal{H}_{[0,\infty)}$ will be also called an s -periodic generalized Jacobi operator.

Evidently, any s -periodic generalized Jacobi matrix satisfies the assumptions (A.1), (A.2) and we have

$$\mathcal{W}_{js+k}(\lambda) = \mathcal{W}_k(\lambda), \quad j \in \mathbb{Z}_+, \quad k \in \{0, \dots, s - 1\}. \tag{6.1}$$

The main tool for analysis of periodic generalized Jacobi operators is the following matrix

$$T(\lambda) := \mathcal{W}_{[0,s-1]}(\lambda) = \begin{pmatrix} -\varepsilon_{s-1} b_{s-1} Q_{s-1}(\lambda) & -Q_s(\lambda) \\ \varepsilon_{s-1} b_{s-1} P_{s-1}(\lambda) & P_s(\lambda) \end{pmatrix}.$$

The matrix $T(\lambda)$ is called the *monodromy matrix*. Using (6.1), we get the following relation

$$\mathcal{W}_{[0,js+k-1]}(\lambda) = T^j(\lambda) \mathcal{W}_{[0,k-1]}(\lambda), \quad j \in \mathbb{Z}_+, \quad k \in \{1, \dots, s\}. \tag{6.2}$$

Let $w_1 = w_1(\lambda)$ and $w_2 = w_2(\lambda)$ be the roots of the characteristic equation $\det(T(\lambda) - w) = 0$. Introduce the following notations

$$E := \{\lambda \in \mathbb{C} : |w_1(\lambda)| = |w_2(\lambda)|\}, \quad E_p := \{\lambda \in \mathbb{C} : P_{s-1}(\lambda) = 0, |b_{s-1} Q_{s-1}(\lambda)| > |P_s(\lambda)|\}.$$

Now, we are ready to give a description of spectra of periodic generalized Jacobi operators.

Theorem 6.2. *The spectrum of an s -periodic generalized Jacobi operator has the form*

$$\sigma(H) = E \cup E_p, \quad \sigma_p(H) = E_p.$$

Proof. Since $\det T(\lambda) \equiv 1$, we have that

$$w_1(\lambda)w_2(\lambda) = 1.$$

Step 1. First, let us prove that

$$\{\lambda \in \mathbb{C}: P_{s-1}(\lambda) \neq 0, |w_1(\lambda)| \neq |w_2(\lambda)|\} \subset \rho(H).$$

To be definite, assume that $|w_1(\lambda)| > |w_2(\lambda)|$. In this case, we see that

$$T(\lambda) = \begin{pmatrix} x_1 & x_2 \\ x_3 & x_4 \end{pmatrix} \begin{pmatrix} w_1(\lambda) & 0 \\ 0 & w_2(\lambda) \end{pmatrix} \begin{pmatrix} x_4 & -x_2 \\ -x_3 & x_1 \end{pmatrix}, \quad \det \begin{pmatrix} x_1 & x_2 \\ x_3 & x_4 \end{pmatrix} = 1. \tag{6.3}$$

Now, (6.2) can be rewritten in the form

$$\mathcal{W}_{[0,js+k-1]}(\lambda) = \begin{pmatrix} x_1 & x_2 \\ x_3 & x_4 \end{pmatrix} \begin{pmatrix} w_1^j & 0 \\ 0 & w_2^j \end{pmatrix} \begin{pmatrix} x_4 & -x_2 \\ -x_3 & x_1 \end{pmatrix} \mathcal{W}_{[0,k-1]}(\lambda). \tag{6.4}$$

Further, (6.4) is reduced to the following relation

$$\mathcal{W}_{[0,js+k-1]}(\lambda) = \begin{pmatrix} x_1x_4w_1^j - x_2x_3w_2^j & -x_1x_2w_1^j + x_1x_2w_2^j \\ x_3x_4w_1^j - x_4x_3w_2^j & -x_3x_2w_1^j + x_1x_4w_2^j \end{pmatrix} \mathcal{W}_{[0,k-1]}(\lambda). \tag{6.5}$$

Multiplying (6.5) by the vector $(1 \ 0)^\top$ we obtain

$$\begin{pmatrix} -\varepsilon_{k-1}b_{k-1}Q_{js+k-1}(\lambda) \\ \varepsilon_{k-1}b_{k-1}P_{js+k-1}(\lambda) \end{pmatrix} = \begin{pmatrix} x_1x_4w_1^j - x_2x_3w_2^j & -x_1x_2w_1^j + x_1x_2w_2^j \\ x_3x_4w_1^j - x_4x_3w_2^j & -x_3x_2w_1^j + x_1x_4w_2^j \end{pmatrix} \begin{pmatrix} -\varepsilon_{k-1}b_{k-1}Q_{k-1}(\lambda) \\ \varepsilon_{k-1}b_{k-1}P_{k-1}(\lambda) \end{pmatrix}.$$

Thus, for the polynomials Q , one has

$$Q_{js+k-1}(\lambda) = -w_1^j(x_1x_4Q_{k-1}(\lambda) + x_1x_2P_{k-1}(\lambda)) + w_2^j(x_2x_3Q_{k-1}(\lambda) + x_1x_2P_{k-1}(\lambda)). \tag{6.6}$$

Similarly, for the polynomials P , we have

$$P_{js+k-1}(\lambda) = -w_1^j(x_3x_4Q_{k-1}(\lambda) + x_3x_2P_{k-1}(\lambda)) + w_2^j(x_4x_3Q_{k-1}(\lambda) + x_1x_4P_{k-1}(\lambda)). \tag{6.7}$$

Note that $x_3 \neq 0$. Indeed, if $x_3 = 0$ then according to (6.3) we would have that $P_{s-1}(\lambda) = 0$. Now, formulas (6.6) and (6.7) yield

$$Q_{js+k-1}(\lambda) - \frac{x_1}{x_3}P_{js+k-1} = -w_2^j \left(\frac{x_1}{x_3}P_{k-1}(\lambda) + Q_{k-1}(\lambda) \right). \tag{6.8}$$

For brevity, define $C_k(\lambda) := -(\frac{x_1}{x_3}P_{k-1}(\lambda) + Q_{k-1}(\lambda))$. Then the equality (6.8) can be rewritten in the following way

$$Q_{js+k-1}(\lambda) - \frac{x_1}{x_3}P_{js+k-1} = (\tilde{w}_2)^{js+k-1}C_k(\lambda), \quad \tilde{w}_2 = w_2^{1/s}, \quad k \in \{1, \dots, s\}. \tag{6.9}$$

Since $|w_2| < 1$, it follows from (6.9) that $\xi(\lambda) - \frac{x_1}{x_3}\pi(\lambda) \in \ell^2_{[0,\infty)}$. A linear independence of $\pi(\lambda)$ and $\xi(\lambda)$, and (6.7), (6.6) imply $\pi(\lambda) \notin \ell^2_{[0,\infty)}$. Now we are ready to verify the condition (5.7) of Theorem 5.3. Let us assume that $i < j$. Then

$$\left| P_i(\lambda) \left[Q_j(\lambda) - \frac{x_1}{x_3}P_j(\lambda) \right] \right| = |(-\tilde{w}_1^i f_1^{(k_1)}(\lambda) + \tilde{w}_2^i f_2^{(k_1)}(\lambda)) \tilde{w}_2^j C_{k_2}(\lambda)|, \quad \tilde{w}_1 = \tilde{w}_2^{-1}, \quad k_1, k_2 \in \{1, \dots, s\},$$

where $k_1 \equiv i \pmod s$ and $k_2 \equiv j \pmod s$. Since $(n_j - n_i)/N = (\sum_{l=i+1}^j k_l)/N \leq (\sum_{l=i+1}^j N)/N = j - i$ we have that $(n_j - n_i)/N \leq j - i$. Thus, one obtains

$$\left| P_i(\lambda) \left[Q_j(\lambda) - \frac{x_1}{x_3}P_j(\lambda) \right] \right| \leq |\tilde{w}_2|^{j-i} C(\lambda) \leq q^{n_j - n_i} C(\lambda),$$

where $C(\lambda) = \sup_{k, k_2 \in \{1, \dots, s\}} \{(|f_1^{(k_1)}(\lambda)| + |f_2^{(k_2)}(\lambda)|) |C_{k_2}(\lambda)|\}$ and $q = \tilde{w}_2 < 1$.

Step 2. Let us show that

$$\{\lambda \in \mathbb{C}: P_{s-1}(\lambda) = 0, |b_{s-1}Q_{s-1}(\lambda)| > |P_s(\lambda)|\} \subset \sigma_p(H).$$

In this case the monodromy matrix can be represented as follows

$$T(\lambda) = \begin{pmatrix} -\varepsilon_{s-1}b_{s-1}Q_{s-1}(\lambda) & -Q_s(\lambda) \\ 0 & P_s(\lambda) \end{pmatrix} = \begin{pmatrix} 1 & x_1 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} w_1(\lambda) & 0 \\ 0 & w_2(\lambda) \end{pmatrix} \begin{pmatrix} 1 & -x_1 \\ 0 & 1 \end{pmatrix},$$

where $w_1(\lambda) = -\varepsilon_{s-1}b_{s-1}Q_{s-1}(\lambda)$ and $w_2(\lambda) = P_s(\lambda)$. Further, we have that

$$\begin{pmatrix} -\varepsilon_{k-1}b_{k-1}Q_{js+k-1}(\lambda) \\ \varepsilon_{k-1}b_{k-1}P_{js+k-1}(\lambda) \end{pmatrix} = \begin{pmatrix} w_1^j & w_1^j x_1 - w_2^j x_1 \\ 0 & w_2^j \end{pmatrix} \begin{pmatrix} -\varepsilon_{k-1}b_{k-1}Q_{k-1}(\lambda) \\ \varepsilon_{k-1}b_{k-1}P_{k-1}(\lambda) \end{pmatrix},$$

that is, the following formulas hold true

$$\begin{aligned} P_{js+k-1}(\lambda) &= w_2^j P_{k-1}(\lambda), \\ Q_{js+k-1}(\lambda) &= -w_1^j Q_{k-1}(\lambda) + (w_1^j - w_2^j)x_1 P_{k-1}(\lambda). \end{aligned}$$

Since $|w_2(\lambda)| < |w_1(\lambda)|$, $G\pi(\lambda) \in \ell^2_{[0,\infty)}$ and, therefore, $\pi(\lambda) \in \ell^2_{[0,\infty)}$. So, we have proved that $E_p \subset \sigma(H)$.

Step 3. By the same reasoning as in Step 1 it can be shown that

$$\{\lambda \in \mathbb{C}: P_{s-1}(\lambda) = 0, |b_{s-1}Q_{s-1}(\lambda)| > |P_s(\lambda)|\} \subset \rho(H).$$

Step 4. We complete this proof by proving the following inclusion

$$\{\lambda \in \mathbb{C}: |w_1(\lambda)| = |w_2(\lambda)|\} \subset \sigma(H).$$

Since $w_1 w_2 = 1$ we have that $|w_1(\lambda)| = |w_2(\lambda)| = 1$. If T is diagonalizable then, due to (6.6), (6.7), there exist numbers $\alpha_k^{(1)}(\lambda), \alpha_k^{(2)}(\lambda), \beta_k^{(1)}(\lambda), \beta_k^{(2)}(\lambda) \in \mathbb{C}$ such that

$$Q_{js+k-1}(\lambda) = w_2^{-j} \alpha_k^{(1)} + w_2^j \alpha_k^{(2)}, \quad j \in \mathbb{Z}_+, k \in \{1, \dots, s\}, \tag{6.10}$$

$$P_{js+k-1}(\lambda) = w_2^{-j} \beta_k^{(1)} + w_2^j \beta_k^{(2)}, \quad j \in \mathbb{Z}_+, k \in \{1, \dots, s\}. \tag{6.11}$$

Since the sequences Q_j and P_j are linearly independent, the sequence $\{Q_j + mP_j\}_{j=0}^\infty$ is nonzero for any $m \in \mathbb{C}$. Also, observe that the sequence $\{|w^j \alpha + \beta|\}_{j=1}^\infty$ ($\alpha \neq 0, |w| = 1$) converges only for $w = 1$. Taking into account these observations one can conclude that the series

$$\sum_{j=0}^\infty |Q_j(\lambda) + mP_j(\lambda)|^2 = \sum_{i=0}^\infty \sum_{k=0}^{s-1} |\alpha_k^{(1)} + m\beta_k^{(1)} + w_2^{2i}(\alpha_k^{(2)} + m\beta_k^{(2)})|^2$$

does not converge for any number $m \in \mathbb{C}$. So, we have that $\xi(\lambda) + m\pi(\lambda) \notin \ell^2_{[0,\infty)}$ for any $m \in \mathbb{C}$. Similarly, one can conclude that $\pi(\lambda) \notin \ell^2_{[0,\infty)}$.

If T is similar to a Jordan block then $w_1 = w_2$ and $w_1 w_2 = 1$. So, $w_1 = \pm 1$. First, let us consider the case $w_1 = 1$. The monodromy matrix takes the form

$$T(\lambda) = \begin{pmatrix} x_1 & x_2 \\ x_3 & x_4 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} x_4 & -x_2 \\ -x_3 & x_1 \end{pmatrix}.$$

Further, (6.2) yields

$$\mathcal{W}_{[0,js+k-1]}(\lambda) = \begin{pmatrix} x_2 x_4 - x_1 x_3 j - x_2 x_3 & -x_2^2 + x_1^2 j - x_1 x_2 \\ -x_3^2 j & -x_3 x_2 + x_3 x_1 j + x_4 x_1 \end{pmatrix} \mathcal{W}_{[0,k-1]}(\lambda).$$

Thus for any $m \in \mathbb{C}$ the vectors $\xi(\lambda) + m\pi(\lambda)$ and $\pi(\lambda)$ do not belong to $\ell^2_{[0,\infty)}$. Analogously, one can consider the case $w_1 = -1$. \square

Remark 6.3. A description of spectra of classical Jacobi operators was obtained in [17].

Let us remind that w_1 and w_2 are the roots of the equation

$$w^2 - (P_s(\lambda) - \varepsilon_{s-1}b_s Q_{s-1}(\lambda))w + 1 = 0. \tag{6.12}$$

Due to (6.12), one has

$$w_1 + w_2 = P_s(\lambda) - \varepsilon_{s-1}b_s Q_{s-1}(\lambda), \tag{6.13}$$

$$w_1 w_2 = 1. \tag{6.14}$$

Remark 6.4. (See [7].) Formulas (6.13), (6.14) allow us to give another description of E ,

$$E = \{\lambda \in \mathbb{C}: (P_s(\lambda) - \varepsilon_{s-1}b_s Q_{s-1}(\lambda)) \in [-2, 2]\}. \tag{6.15}$$

Example 6.5. Let us consider the following difference equation

$$\frac{1}{2}u_{j+1} - \lambda^2 u_j - \frac{1}{2}u_{j-1} = 0 \quad (j \in \mathbb{N}). \tag{6.16}$$

Clearly, the three-term recurrence relations (6.16) generate the following 1-periodic generalized Jacobi matrix

$$H = \begin{pmatrix} A & B & \mathbf{0} \\ B & A & \ddots \\ \mathbf{0} & \ddots & \ddots \end{pmatrix}, \quad A = \begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix}, \quad B = \begin{pmatrix} 0 & \frac{1}{2} \\ 0 & 0 \end{pmatrix}.$$

In this case, by easy calculations, we have

$$P_0(\lambda) = 1, \quad P_1(\lambda) = 2\lambda^2, \quad Q_0(\lambda) = 0, \quad Q_1(\lambda) = 2.$$

Since $P_0(\lambda) = 1 \neq 0$, it follows from Theorem 6.2 that $\sigma_p(H) = \emptyset$. Next, according to Theorem 6.2 and (6.15), we have

$$\sigma(H) = \{\lambda \in \mathbb{C} : 2\lambda^2 \in [-2, 2]\} = [-1, 1] \cup [-i, i].$$

By the same reasoning as in [7], one can prove the following statement on the structure of the set E .

Proposition 6.6. (See [7].) *The compact set E has no interior points. The open set $D := \mathbb{C} \setminus E$ is connected. The functions w_1 and w_2 are single-valued in D .*

7. Padé approximants

Our goal in this section is to prove convergence results for Padé approximants.

Definition 7.1. (See [28].) The $[L/M]$ Padé approximant to the function $\varphi(\lambda) = -\sum_{j=0}^{+\infty} \frac{s_j}{\lambda^{j+1}}$ is defined as a ratio

$$f^{[L/M]}(\lambda) = \frac{A^{[L/M]}(\frac{1}{\lambda})}{B^{[L/M]}(\frac{1}{\lambda})}$$

of two polynomials $A^{[L/M]}, B^{[L/M]}$ of formal degree L and M , respectively, such that $B^{[L/M]}(0) \neq 0$ and

$$\sum_{j=0}^{+\infty} \frac{s_j}{\lambda^{j+1}} + f^{[L/M]}(\lambda) = O(\lambda^{-(L+M+1)}) \quad (\lambda \rightarrow \infty).$$

In the case $L = M = n$, the $[n/n]$ Padé approximant is also called *the n th diagonal Padé approximant*.

Let us consider the Weyl function $m(\lambda) = [(H - \lambda)^{-1}e, e]$, where the corresponding matrix H satisfies the assumptions (A.1), (A.2). The representation (4.7) of $m_{[0, j-1]}$ yields

$$m_{[0, j-1]}(\lambda) = -\frac{Q_j(\lambda)}{P_j(\lambda)} = -\frac{s_0}{\lambda} - \frac{s_1}{\lambda^2} - \dots - \frac{s_{2n_j-2}}{\lambda^{2n_j-1}} + O\left(\frac{1}{\lambda^{2n_j}}\right) \quad (\lambda \rightarrow \infty), \tag{7.1}$$

where $s_i = [H^i e, e]$ ($i = 0, \dots, 2n_j - 2$). Moreover, it was shown in [13] that $m_{[0, j-1]}(\lambda)$ has the following asymptotic expansion

$$m_{[0, j-1]}(\lambda) = -\sum_{i=0}^{2n_j-2+k_j} \frac{s_i}{\lambda^{i+1}} + O\left(\frac{1}{\lambda^{2n_j+k_j}}\right) \quad (\lambda \rightarrow \infty), \tag{7.2}$$

where $s_i = [H^i e, e]$ ($i = 0, \dots, 2n_j - 2 + k_j$). The latter means that the rational function

$$f^{[n_j/n_j]}(\lambda) = m_{[0, j-1]}(\lambda) = \frac{A^{[n_j/n_j]}(1/\lambda)}{B^{[n_j/n_j]}(1/\lambda)} = \frac{-\frac{1}{\lambda^{n_j}} Q_j(\lambda)}{\frac{1}{\lambda^{n_j}} P_j(\lambda)} \quad (j = 1, 2, \dots) \tag{7.3}$$

is the $[n_j/n_j]$ Padé approximant to m . Besides, it follows from the Padé theorem (see [5, Theorem 1.4.3]), that for L and M satisfying

$$L \geq n_j, \quad M \geq n_j, \quad L + M \leq 2n_j + k_j - 1$$

the $[L/M]$ Padé approximants coincide with $f^{[n_j/n_j]}$, and for L, M satisfying

$$L \leq n_j + k_j - 1, \quad M \leq n_j + k_j - 1, \quad L + M \geq 2n_j + k_j$$

the $[L/M]$ Padé approximants do not exist (for details see [13]).

In what follows we need the following definition.

Definition 7.2. The set $\Theta(H) := \{(Hy, y)_{\ell^2} : \|y\| = 1\} \subset \mathbb{C}$ is called a numerical range of the operator H .

Clearly, the numerical range of a bounded operator is a bounded set. By the Hausdorff theorem we have that $\sigma(H) \subset \overline{\Theta(H)}$ (see [22]).

Theorem 7.3. Let $m(\lambda) = [(H - \lambda)^{-1}e, e]$ be the Weyl function of H satisfying (A.1), (A.2). Then there exists a subsequence of diagonal Padé approximants $f^{[n_j/n_j]}$ to m , which converges to m locally uniformly in $\mathbb{C} \setminus \overline{\Theta(H)}$.

Proof. First, note that $\Theta(H_{[0,n]}) \subset \Theta(H)$, and, therefore, $\overline{\Theta(H_{[0,n]})} \subset \overline{\Theta(H)}$. As a consequence, we have that if $\lambda \in \mathbb{C} \setminus \overline{\Theta(H)}$ then $\lambda \in \rho(H_{[0,n]})$ for all $n \in \mathbb{Z}_+$. Let $\lambda \in \mathbb{C} \setminus \overline{\Theta(H)}$. Then $\text{ran}(H - \lambda) = \ell^2_{[0,\infty)}$ and for any finite vector ϕ we have

$$(H_{[0,j]} - \lambda)^{-1}\phi \rightarrow (H - \lambda)^{-1}\phi, \quad j \rightarrow +\infty.$$

Thus, one can obtain

$$f^{[n_j/n_j]}(\lambda) = m_{[0,j-1]}(\lambda) = [(H_{[0,j-1]} - \lambda)^{-1}e, e] = ((H_{[0,j-1]} - \lambda)^{-1}e, Ge)_{\ell^2} \rightarrow ((H - \lambda)^{-1}e, Ge)_{\ell^2} = m(\lambda). \tag{7.4}$$

According to [22, Theorem 3.2, p. 336] one has

$$\|(H_{[0,j]} - \lambda)^{-1}\| \leq \frac{1}{\text{dist}(\lambda, \Theta(H_{[0,n]}))} \leq \frac{1}{\text{dist}(\lambda, \Theta(H))}.$$

Hence, the family $f^{[n_j/n_j]} = m_{[0,j]}$ is uniformly bounded on compact sets in $\mathbb{C} \setminus \overline{\Theta(H)}$. Actually, the following estimates hold true

$$|m_{[0,j]}(\lambda)| = |((H_{[0,j]} - \lambda)^{-1}e, Ge)_{\ell^2}| \leq \|(H_{[0,j]} - \lambda)^{-1}e\|_{\ell^2} \|Ge\|_{\ell^2} \leq \frac{\|Ge\|_{\ell^2}}{\text{dist}(\lambda, \Theta(H))}.$$

So, the family $f^{[n_j/n_j]}$ is uniformly bounded and, therefore, $f^{[n_j/n_j]}$ is precompact. Now, to complete the proof it is sufficient to apply (7.4) and the Vitali theorem. \square

Remark 7.4. In the proof of Theorem 7.3 we used the method proposed in [7] for complex Jacobi matrices. Note that Theorem 7.3 is a generalization of [19, Theorem 1]. More precisely, we do not suppose existence of all diagonal Padé approximants and all poles of the existed diagonal Padé approximants belong to the convex set $\overline{\Theta(H)}$.

Further, following the scheme proposed in [1], we find out a behavior of the associated polynomials at the points of the resolvent set.

Proposition 7.5. For any $\lambda \in \rho(H)$ the following inequality holds true

$$\limsup_{j \rightarrow +\infty} |P_j(\lambda)|^{1/j} > 1. \tag{7.5}$$

Proof. In fact, the proof is in line with that in [1]. However, we give the proof here for the convenience of the readers. Using (2.12) and (4.2), one can see

$$P_j(\lambda)(\varepsilon_j b_j W_{j+1}(\lambda)) - P_{j+1}(\lambda)(\varepsilon_j b_j W_j(\lambda)) = 1. \tag{7.6}$$

Due to (A.1), (A.2), and (5.7), one has

$$|\varepsilon_j b_j W_j(\lambda)| \leq C_1 q_1^j, \quad 0 < q_1 < 1. \tag{7.7}$$

It follows from (7.6) and (7.7) that the sequence $P_j(\lambda)$ cannot be majorized by a geometric sequence p^j with $p < 1/q_1$, that is, for any $p < 1/q_1$ and any positive constant C_2 the inequality

$$|P_j(\lambda)| \leq C_2 p^j$$

is not satisfied for an infinite number of indices j . We thus have

$$|P_{j_k}(\lambda)| \geq C_2 p^{j_k}.$$

If we choose p such that $1/q_1 > p > 1$ we obtain the required result. \square

From these statements one can deduce the following result on convergence of diagonal Padé approximants.

Theorem 7.6. *Under the assumptions (A.1), (A.2), for any $\lambda \in \rho(H)$ there exists a subsequence of diagonal Padé approximants to $m(\lambda) = [(H - \lambda)^{-1}e, e]$, which converges to $m(\lambda)$ at λ .*

Proof. From (7.5) we get that there exists a subsequence j_k such that

$$|P_{j_k}(\lambda)| \geq C_2 p^{j_k}, \quad p > 1. \quad (7.8)$$

Further, Theorem 5.3 and (7.8) imply the relation

$$\left| m(\lambda) + \frac{Q_{j_k}(\lambda)}{P_{j_k}(\lambda)} \right| = \left| \frac{W_{j_k}(\lambda)}{P_{j_k}(\lambda)} \right| \leq C_3 \left(\frac{q}{p} \right)^{j_k},$$

which completes the proof. \square

Acknowledgments

I express my gratitude to Professor V.A. Derkach for reading the manuscript and giving helpful comments. I also thank the anonymous referee for helpful remarks.

References

- [1] A.I. Aptekarev, V.A. Kaliaguine, W. Van Assche, Criterion for the resolvent set of nonsymmetric tridiagonal operators, Proc. Amer. Math. Soc. 123 (1995) 2423–2430.
- [2] N.I. Akhiezer, The Classical Moment Problem, Oliver and Boyd, Edinburgh, 1965.
- [3] T.Ya. Azizov, I.S. Iohvidov, Linear Operators in Spaces with an Indefinite Metric, Pure Appl. Math. (N. Y.), John Wiley & Sons, New York, 1989.
- [4] F.V. Atkinson, Discrete and Continuous Boundary Problems, Academic Press, New York, 1964.
- [5] G. Baker, P. Graves-Morris, Padé Approximants. Part I: Basic Theory, Encyclopedia Math. Appl., vol. 13, Addison-Wesley, London, 1981.
- [6] B. Beckermann, Complex Jacobi matrices, J. Comput. Appl. Math. 127 (2001) 17–65.
- [7] B. Beckermann, V.A. Kaliaguine, The diagonal of the Padé table and the approximation of the Weyl function of second order difference operators, Constr. Approx. 13 (1997) 481–510.
- [8] B. Beckermann, A. Osipov, Some spectral properties of infinite band matrices, Numer. Algorithms 34 (2–4) (2003) 173–185.
- [9] Ju.M. Berezanskii, Expansions in Eigenfunctions of Self-Adjoint Operators, Transl. Math. Monogr., vol. 17, Amer. Math. Soc., Providence, RI, 1968.
- [10] S. Demko, W.F. Moss, P.W. Smith, Decay rates for inverses of band matrices, Math. Comp. 43 (168) (1984) 491–499.
- [11] M. Derevyagin, On the Schur algorithm for indefinite moment problem, Methods Funct. Anal. Topology 9 (2) (2003) 133–145.
- [12] M.S. Derevyagin, Borg-type theorems for generalized Jacobi matrices and trace formulas, Methods Funct. Anal. Topology 12 (3) (2006) 220–233.
- [13] M. Derevyagin, V. Derkach, Spectral problems for generalized Jacobi matrices, Linear Algebra Appl. 382 (2004) 1–24.
- [14] M. Derevyagin, V. Derkach, On the convergence of Padé approximations for generalized Nevanlinna functions, Trans. Moscow Math. Soc. (2007) 119–162.
- [15] V. Derkach, On generalized resolvents of Hermitian relations in Krein space, J. Math. Sci. 97 (5) (1999) 4420–4460.
- [16] F.R. Gantmacher, The Theory of Matrices, Chelsea Publishing Company, New York, 1964.
- [17] J.L. Geronimus, On some difference equations and associated systems of orthogonal polynomials, Zap. Mat. Otdel. Fiz.-Mat. Fak. Kharkov. Univ. Kharkov. Mat. Obsch. 25 (1957) 87–100 (in Russian).
- [18] F. Gesztesy, B. Simon, m -Functions and inverse spectral analysis for finite and semi-infinite Jacobi matrices, J. Anal. Math. 73 (1997) 267–297.
- [19] A.A. Gonchar, On uniform convergence of diagonal Padé approximants, Math. Sb. 118 (4) (1982) (in Russian); English translation in: Math. USSR Sb. 46 (1983) 539–559.
- [20] I. Gohberg, P. Lankaster, L. Rodman, Matrix Polynomials, Academic Press, New York, 1982.
- [21] W.B. Jones, W.J. Thron, Continued Fractions, Addison-Wesley Publishing Company, London, 1980.
- [22] T. Kato, Perturbation Theory for Linear Operators, Springer-Verlag, 1966.
- [23] M.G. Krein, H. Langer, On some extension problem which are closely connected with the theory of hermitian operators in a space Π_κ . III. Indefinite analogues of the Hamburger and Stieltjes moment problems, Part I, Beiträge Anal. 14 (1979) 25–40.
- [24] A. Magnus, Certain continued fractions associated with the Padé table, Math. Z. 78 (1962) 361–374.
- [25] A. Magnus, Expansion of power series into P -fractions, Math. Z. 80 (1962) 209–216.
- [26] M.M. Malamud, On a formula of generalized resolvents of a nondensely defined Hermitian operator, Ukr. Mat. Zh. 44 (12) (1992) 1658–1688 (in Russian); translation in: Ukrainian Math. J. 44 (1992) 1522–1547.
- [27] S.M. Malamud, Inverse spectral problems for normal matrices and the Gauss–Lucas theorem, Trans. Amer. Math. Soc. 357 (2005) 4043–4064.
- [28] E.M. Nikishin, V.N. Sorokin, Rational Approximations and Orthogonality, Transl. Math. Monogr., vol. 92, Amer. Math. Soc., Providence, RI, 1991.
- [29] B. Simon, The classical moment problem as a self-adjoint finite difference operator, Adv. Math. 137 (1998) 82–203.
- [30] H. Stahl, On the divergence of certain Padé approximants and the behaviour of the associated orthogonal polynomials, in: Polynômes Orthogonaux et Applications, in: Lecture Notes in Math., vol. 1171, Springer-Verlag, Heidelberg, 1983, pp. 321–330.
- [31] P.L. Tchébycheff, Sur les fractions continues, J. Math. Pures Appl. (2) 3 (1858) 289–323.
- [32] H. Van Rossum, Padé approximants and indefinite inner product spaces, in: E.B. Saff, R.S. Varga (Eds.), Padé and Rational Approximation. Theory and Applications, Tampa, 1976, pp. 111–119.